REPAIR SHEET

BRAND DESCRIPTION

RYOBI

MODEL NO.

PSBCS02

18 Volt Cut-Off Tool

ONE WORLD TECHNOLOGIES, INC.
P.O. Box 1288, Anderson, SC 29622 ® 1-800-525-2579 m www.ryobitools.com

The model number and manufacturing location will be found on a label attached to the product. Always mention this information in all communications regarding this product and when ordering parts.

8-5-22 (Rev:02)




e

CS02

33

34

30



RYOBI PSBCS02

If a key number has multiple part numbers, please order the part that corresponds with the country of origin shown on the product’s data label.

3

CN = China VN = Vietnam

PARTS LIST
KEY NO. | PART NO. DESCRIPTION QTy. KEY NO. | PART NO. DESCRIPTION QTy.
1 663012001 | Screw (M6 x 12 mm, Hex Hd.) 1 19 941120584 | Warning Label (ENG) 1
2 614367001 | Top Flange 1 20 941120585 | Warning Label (FR/SP) 1
3 614646001 | Bottom Flange (3/8 in. arbor size) 1 21 662216001 | Screw (M3 x 12 mm, T10 Torx Pan Hd.) 15
4 662936001 | Screw (M2.6 x 10 mm, T8 Torx Pan Hd.) 4 22 661047001 | Screw (M2.6 x 14 mm, T-8 Torx Pan Hd.) 1
5 658865002 | Detent Plate 1 23 659612001 | LED Lens Mounting 1
6 643981003 | Safety Guard 1 24 662436002 | Screw (M2.3 x 20 mm, T8 Torx Pan Hd.) 1
7 658868002 | Wire Guide Spring 1 25-CN 941123037 | Data Label 1
8 614401004 | Wire Guide Clamping Cover 1 25-VN 941124190 | Data Label 1
9 564429001 | 0-Ring 1 26 941120582 | Icon Warning Label 1
10 301124017 | Knob 1 27-CN 204764009 | Handle Housing Assembly 1
11 659050001 | Flat Washer 1 27-VN 204764018 | Handle Housing Assembly 1
12 565526001 | Gasket 1 28 541281001 | Forward/Reverse Button 1
13-CN 206691005 | Motor Armature Assembly 1 29 565863001 | Pin 1
13-VN 206691013 | Motor Armature Assembly 1 30 658469002 | Wrench 1
14 561653001 | Pin 2 31 614366002 | Bottom Flange (7/16 in. arbor size) 1
15-CN 206689007 | Motor Field and Circuit Board Assembly 1 32 903879003 | Metal Cutting Blade 1
15-VN 206689013 | Motor Field and Circuit Board Assembly 1 33 682476003 | Tile Cutting Blade 1
16 565689001 | RYOBI Logo Badge 1 34 682477003 | Carbide Abrasive Blade 1
17 565708001 | Brushless Logo Badge 1 Not Shown:
18-CN 204764008 | Motor Housing Assembly 1 998000211 | Operator’s Manual (961153418)
18-VN 204764017 | Motor Housing Assembly 1




RYOBI PSBCS02

BATTERY FRONT LED LENS
CONTACT PLATE
RED
RED
* MOTOR FIELD AND
CIRCUIT BOARD
ASSEMBLY
= = = O
RIBBON
WHITE CONNECTOR
O
@)
SWITCH
REAR LED LENS BLACK
@
(@

WIRING DIAGRAM



